FUBAG Motonomna 1Jis cujibHo3arpsisHeHHoM Boabl PG 950 T (838246)

108109 110

111

139



HOMEp

/i KOJ HAauMEHOBAHUE KOJI-BO
1 GB/T16674.1 o6ont M6x7 3
2 HST168F-091000 craprep 1
3 HST168F-083000 BBIKJIIOUATEJIb ABUTaTEII 1
4 GB/T16674.1 6ont M6x12 4
5 HST168F-101000 KpBbIILIKa 1
6 GB/T6177.2 raitka M14x15 1
7 HST168F-090001 yalika craprepa 1
8 HST168F-100001 BEHTUJISITOP 1
9 HST168F-081000 MaXxOBUK 1
10 GB/T16674.1 6ont M6x16 1
11 HST168F-034000 cemaparop 1
12 GB/T16674.1 6ot M6x12 1
13 HST168F-100002 KpBIILIKa Kojeca 1
14 HST168F-1-031000 KapTep 1
15 HST168F-030005 6ot M10x12 2
16 HST168F-030006 npokiaakal 0x16x1 2
17 HST168F-070002 LITBIPB LIECTEPHU I'PM 1
18 GB/T895.2-86 KOJIBIIO O10Ka 6 1
19 HST168F-070008 konb1o 6x15x0.5 1

20 HST168F-072000 HIeCTEpHsI 000POTOB I'pM 1

21 HST168F-070008 Kosb1106x15x0.5 1
22 HST168F-070002 6oaT 1
23 HST168F-070003 KOPOMBICTIO 1
24 GB9/T7.1-02 MpoKyIaaKa b 1
25 HST168F-070007 npyKUHA 1
26 HST168F-070005 TSTa PETYIATOPOB 000pOTa 1
27 HST168F-070004 PYKOSITKA 1
28 HST168F-070011 6ont 1
29 HST168F-070010 mTA(T TPYy>KUHHBIT 1
30 GB9/T7.1-02 IIPOKJIaAKa Q6 1
31 HST168F-070006 Mpy>KUHA TPM 1
32 GB6177.1 raiika M6 1
33 GB/T16674.1 6ont M6x12 2
34 HST168F-071000 peryasTop 000poToB 1
35 HST168F-082000 KaTyIlKa 3aKUTraHus 1
36 GB/T16674.1 6ont M6x25 2
37 HST168F-033000 JlaTYUK yPOBHS Macia 1
38 HST168F-032000 CaJIbHUK 1
39 GB276-94 noAImUIHUK 6205 1
40 HST168F-041002 KpBIILIKA IaTyHa 1
41 HST168F-041003 6ont 2




42 GB/T1099-79 KITIOY |
43 HST168F-1-051000 KOJICHBAJI

44 HST168F-030003 MPOKJIaJIKa KOJIEHBAJIA 1
45 HST168F-030004 mrrudr ¢18x14 2
46 GB276-94 noAIUIHUK 6205 1
47 HST168F-032000 CaJIbHUK 1
48 HST168F-030002 KpBIIIKa KapTepa 1
49 HST168F-030001 BUJIKA IITETICENbHAsT Macia 2
50 GB/T16674.1 6ont M8x33 6
51 HST168F-1-061000 pacnpenBain 1
52 HST168F-100003 IJIACTHHA KPETUICHUS 1
53 GB/T16674.1 60T M6x12 2
54 GB899-88 oonT 2
55 HST168F-110001 MPOKJIAJIKA TIIYIIATEIS 1
56 HST168F-I-111000 [Ty IIATENS 1
57 GB97.1-02 MpoKIaaKa 8 2
58 GB93-87 npyxuHa 8 2
59 GB/T6170.1 raiika M8 2
60 GB/T16674.1 60T M6x12 4
61 HST168F-022000 KpBILLIKA TOJIOBKU LUJIMHIpA 1
62 HST168F-020004 TpyOKa 1
63 HST168F-020003 IIPOKJIaAKa 1
64 HST168F-060008 raiika

65 HST168F-060007 raiika )
66 HST168F-060006 MJIaCTHHA

67 HST168F-060009 6ont

68 HST168F-060005 IJIaCTUHA 1
69 F6RTC CBEYA 3KUTAHUS 1
70 HST168F-060010 OCHOBaHUE NPY>KUHBI BIlyCKHOI'O KJlaniaHa 1
71 HST168F-060011 OCHOBAHUE IPYKUHBI BBIITYCKHOI'O KJlanaHa 1
72 HST168F-060012 KpBIIIKAa BEPXHSA 1
73 HST168F-060013 IpyHUHa KJlaraHa 2
74 HST168F-062000 IIPOKJIAJIKa KJanaHa 1
75 GB/T16674.1 601t M8x55 4
76 HST168F-1-021000 roJ0BKa LUIUHAPA 1
77 HST168F-020001 mWTUPT 2
78 HST168F-060003 KJIAIlaH BITyCKHOMN 1
79 HST168F-060004 KJIanaH BbIITYCKHOM 1
80 HST168F-1-020002 MPOKJIAJIKa TOJIOBKH LIUJIMHAPA 1
81 HST168F-040002 KOJIbLIO MOpIIHEBOE | 1
82 HST168F-040003 KOJIBIIO MOPIIHEBOE 2 1
83 HST168F-040004 KOJIBIIO TIOPIIIEBOE a 2
84 HST168F-040005 KOJIBIIO TIOPIIEBOE b 1
85 HST168F-1-040001 MOPIIEHb 1




86

HST168F-040007

KOJIBIIO

2
87 HST168F-040006 najer MopuIHs 1
88 HST168F-060002 TOJIKATENb 2
89 HST168F-1-060001 CTEp)KEHb 2
90 HST168F-041001 IITOK COETMHUTETbHBII 1
91 GB6177.1 raiika M6 2
92 HST168F-011000 (GUIBTP BO3AYIIHBIN 1
93 HST168F-010004 MPOKJIAJIKa BO3AYLIHOIO (PUIbTpa 1
94 P18G KapOroparop 1
95 HST168F-010003 MPOKJIaJKa 1
96 HST168F-010001 MJIaCTUHA 1
97 HST168F-010002 IIPOKJIaAKa 1
98 GB899-88 oonT 2
99 HST168F-122000 KPBIIIIKa TOTUIMBHOTO 0aka 1
100 HST168F-120004 3aKUM (puIbTpa 1
101 HST168F-123000 (GWIBTpP TOIIMBHBIN 1
102 GB/T16674.1 601T m6x28 1
103 HST168F-121000 0aK TOTUTMBHBIN 1
104 HST168F-120001 pa3beM TOIIMBHOIO UIAHTA 1
105 GB6177.1 raiika moé6 2
106 HST168F-120002 IUTAHT TOTUIMBHBIN 1
107 HST168F-120003 32KUM 2
108 GB/T6177.1 raiitka M8 4
109 WBS80-021000 pama 1
110 GB/T16674.1 6ont M8x30 4
111 WP20A-022000 HOXKa pe3UHOBast 4
112 GB/T6177.1 raitka M8 4
113 GB/T16674.1 6ont M8x35 2
114 WB80-010015 MPOKJIAaJIKa Pe3UHOBAs 2
115 WB80-010001 KpBIILIKa HAacoca 1
116 WP20A-010012 MPOKJIaJKa 4
117 GB/T16674.1 60nTM8x25 4
118 GB/T3452.1-82 CaJIbHUK 1
119 GB/T3452.1-82 CaJIbHUK 1
120 WBS80-010013 npyKUHA 1
121 WB80-010014 KpBbIILIKa 1
122 WBg&0-011000 CaJIbHUK MEXaHUYECKUI 1
123 GB/T1096-79 KJTIOY 1
124 WB8&0-010002 HMITEIIIIED 1
125 WP20A-010012 MPOKJIaKa 1
126 GB/T16674.1 6oaT 1
127 WBS80-010003 maddyzop 1
128 WB80-012000 KJIaraH oOpaTHBIN 1
129 GB/T3452.1-82 CaJlbHUK 6




130 WB8&0-010004 KOpITyC Hacoca 1
131 GB/T3452.1-82 CaJIbHUK 2
132 WP20A-010006 poOKa 3aJTMBHOM TOPJIOBUHBI 2
133 WB80-015000 BHUHT TUma T 6
134 WP30A-010007 IIPOKJIAJKA pE3UHOBAs 2
135 WP30A-010008 KOHHEKTOP 2
136 WP30A-010009 KJIFOY FaCYHbIN 2
137 WP30A-014000 3aKUM 3
138 WB80-010016 naTpyOox 1

1

139

WB80-013000

CCTKa




